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Time : 75 Minutes
Total Number of Questions : 100

Maximum Marks : 100 ____—

INSTRUCTIONS TO CANDIDATES

1. The Question Paper will be given in the form of a Question Booklet. There will be four

versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C&D.

2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

5. The Question Booklet Serial Number is printed on the top rightmargin of the facing sheet. If your

Question Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

6. The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

7. Immediately after the commencement of the examination, the candidate should check that

the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or tom or missing pages and if so he/she should
br(i)rz? itto the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

8. Question Serial No. 1 to 70 are printed'both in English andin Official Lan
Doubts regarding the meaning and translation of Question Seria)

N guage (Malayalam).
based on the Questions in English. ©.110 70 will be settled
9. Two blank pages are

i provided before the last page of thig Question Paper for rough

10. Please read carefully all the instructions on the reverse g
marking your answers. fthe Answer Sheet before

11.  Each question is provided with four choices (A), (B), (C)and .
Chooge the correpct answer and darken the bubble correspo(lr?c)ji?\avtmg one correct ansvséeré
using Blue or Black Ball Point Pen in the OMR Answer Sheet, 9 1o the question numbe

12. Each correct answer carries 1 mark and for each wr
deducted. No negative mark for unattended question:_ "9 answer 1/3 mark will be

13. No candidate will be allowed to leave the examination hay g th : d
without handing over his/her Answer Sheet to the '”V'gilator € end of the session an
that the Invigilator has verified all the entries in the Register'N andidates should ensure
that the Invigilator has affixed his/her signature in the SPace prg\r,nd er Coding Sheet and

Ided.

14. Strict compliance of instructions is essential. Any m

. A Y Malpraeti
kind of malpractice in the Examination will resultiin the d?scct;ﬁgl'(f)'r Sttempt to commit a7y
-1- ication of the candidate-
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1. Which of the following 0bjé!V® "®lated to the Fiscal Responsibility and Budget

A)' 2003 are correct ,)
Management Act (FRBM ]
(i) Fiscal deficit is to be reduced to 59 of GDP.

" - ination Of TVE€NUe deficit,
(i) Complete elimination 0'* :
(i) Greater transparency Il fiscal operations. A
A) Only (i) and (ii) B) Only (i) and (iii)
C) Only (i) and (iii) D) All of the above (i, ii and iii)

2. Calculate the NNP at factor €ost from the following data :

NNP at Market price : BRS. 5,000 crores, Indirect taxes : Rs. 400 crores,
Subsidies : Rs. 200 crores.

A) Rs. 5,600 crores B) Rs. 5,200 crores

C) Rs. 4,800 crores D) Rs. 4,400 crores

3. The major instruments used by the Reserve Bank of India to control credit include
(i) Bank Rate.
(i) Variable Reserve Requirements (CRR&SLR).
(i) Open Market Operations.
Which of the statements are correct ?

A) All are correct B) Only (i) and (i) C) Only (ii) and (i) D) All are wrong

Among the major objectives of some Five Year Plans in India, which one is in a
correct (ascending/chronological) order ?

(i) Inclusive growth

(i) Rapid industrialization

(iii) Agricultural development

(iv) Poverty eradication

A) (i), (i), (i), (iv) B) (i), (ii), (iv), (i)

C) (i), (i), (iv), (i) D) (i), (v), (ii), (1)

5. Nobel Prize for Economics in 2020 was awarded to Paul R. Milgrom and
Robert B. Wilson for their contribution in

A) Improvements to auction theory and inventions of new auction formats

B) Behavioural economics

C) Integrating technological innovations into long run macroeconomic analysis
D) Experimental approach to alleviating global poverty

Edwin completes a journey in 11 hys, He travels first half of the journey at the rate of
20 km/hr and second half at the rate of 24 kmvhr. Find the distance travelled in km.
A) 200 B) 220 C) 260 D) 240

2 women and 'S men can togeth g, finish a work in 4 days while 3 women and 6 men
can finish the S8Me work i 3 days. Find the time taken by 1 man alone to finish the
work.

A) 36 B) 18 C) 38 D) 20
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. adlped ©OMIBaIMBNenflaf @O e moemageg @ M(FRBMA —2003) @0
MINWORS IO (IO Bl Jemgleh . g

: . l® oysim® OO @ Gemo-
A) (i) ®o (il) ®0 Mmoo B) (ii) go (iii) £o @@ P
C) (i) o (iii) 9o Mmoo D) ayengiah aosrm® agygyoo (i, it and iii)
+ @IOY alomym awogqeil@d dlary a0dd afleigy NNP B6MHHIBEND.
NNPwes allaiemiane - ®ad 5,000 e:09¢), aienoss dlepel @ @l 400 e0s],
eIl @ apat 200 ewsog).

A) ®at: 5,600 e B) @yl : 5,200 es:08l
C) mat: 4,800 cwrog

D) ojai: 4,400 6s:0¢]
- Slealy dlomlenod dadal snos aoad gy DAICWOUIBOU DaldOEMETBRD OO
oM@ agemonss ?
(1) eruoss Milows
(i) cudweniicd lemdq) eaism? (CRR&SLR).
(iil) @yom afaien aiaveied.
E0® oAU @R Ko @@/ agcu ?
A) aggjoo vadlwoeny B) (i) &o (ii) o C) (ii) oo (iii) 9o D) agpgjoo loTak2y)
- DMWIWOS 2lel aleRIAUBVO e IALEAIBEOS (LIWIM BIGHIEBR M6 SOl leoeromy.
BOAUOS @DEDOAOEM (B>D0/ 08I (EA alld> af@oen ?
() ovaw csd.ay
(i) aqywodiaies alyaimoe aCenosmo
(iii) @00l afldavmo :
(iv) @odl@ cfldamodeemo Lo
A) (i), (ii), (i), (iv) B) (i), (i, (iv), i)
C) (i), (iii), (iv), (i) D) (i), (iv), (i), (i)
. 2020 ee! MIMIEDIE:00o(P@Tlenl GMeMIMD BOMIDOORAH g o¢
c0oerudg enfl. afl@avemio @EBAOEIW® @RAIMIOS AR Mo @y
A) ceiel milavoamesiion aymdaidealenoe a el elel eanopay

®0d ddewonyo,
am ?

@to> LROTY Hlog Seaflemanfiono
B) eaimymog momiedile, woyo
C; moe@io ag)eseemodiglom dldeelsoelo (ﬁ](vfbce:EJmo ® _Q_,%mom&gg g 0s

M6 @B N3 a6 BxemeialiSlamasim

D) mosemog Bodlao eleeyedleamaimes oldexamomds, ey

agwsaliad 11 aenfleandicd a8y @I(® ayd@elosnm). meg Qo

Q
. 20 #. dl./oenilen)dleo eensoo alei®l 24 £l. dl./cafeefay, .

ﬂﬁ&Qs (@@GJ n_]ce_,&mﬂ

Q)o g

agyaiaid cuermidl.ay Goo &leeodlgal@d &Qmmg&)ﬁéeo @ 621w ag)BI@,

A) 200 B) 220 et Ehsoan

Yy 4 dlcuo
. 2 (flda0 5 aloiaumone -2 X @y,

6 rla(fm&n%cmo(ogo @i’ 3 dlauao acfbomi abOTil@oseyo, QB 1 i.l& m;i:@eﬂ 3 (Pleayo
ayd@EEl @860 ag)® Elaimo ag)Seelo - C) 38 CHORENIN)

A) 36 B) 18 D%

a8s




096/21 - M

8. A metallic sphere of diameter 5.2 cm is melted and recast into a cylinder of radius
5.2 om. Find the height of the cylinder.,
B) 5.2

A) 20.8

C) 10.4 D) 2.6

9. Kiran was working in a private financial firm. He invested Rs. 50,000/- at an interest
rate of 12% per annum compounded half yearly. What will be the amount he receives

after 1 year ?
A) Rs. 56,200
Nivin buys a watch for Rs. 500 and sells it to Shinoy at 10% profit, Shinoy then sells

B) Rs. 56,180 C) Rs. 55,000 D) Rs. 57,180

10.
it to Jenu at 20% loss and Jenu sells it to Jeevan 10% loss. How much did Jeevan
pay for the watch ?
A) Rs. 484 B) Rs. 396 C) Rs. 384 D) Rs. 480
11. Wgngh of the following film won the award for the best film on National Integration
in 2021 ?
A) Maharshi B) Tajmahal C) Asuran D) Pingara
12. Which of the following statements is/are correct of Covaxin ?
(i) Covaxin is India’s indigenous Covid 19 Vaccine. )
(ii) Itis an Intranasal Vaccine. Jobs B
(iii) Itis dgveloped by Serum Institute.
A) Only (!) B) Only (i) and (ii)
C) Only (i) and (iii) D) All the above (i, ii and iii)
13. ‘Manika Batra’ is associated with which of the following ?
A) Squash B) Billiards C) Table tennis D) Cricket

14. Asura : The Tale of the Vanquished is written by
B) Aravind Adiga

A) Sashi Tharoor
C) Anees Salim D) Anand Neelakandan

. “l'\h" started Vala Samudaya Parishkarani Sabha ?
) Yaghbadanandhan B) Brahmananda Sivayogi

PanditK. p. Karuppan D) Vaikunda Swamikal

16. i
6. Ramis the brother of son of Madhav's son. How is Ram related to Madhav ?

Cousin
dfather

W D) S
17. A clock se |

A) 4.50 &N through a mirror shows 7.10. What is the correct time shown in the clock ?
18. What is th B) 5.45 C) 5.50 D) 4.40

. What is the ang)
A) 200° 9 traced by the minute hand of a clock in 35 minutes ?
B) 1950 C) 1700 D) 2100

19. If February 1, 2008
i . Wed"esday, what day is March 4, 2008 ?

A) Saturday
C) Wednesday B) Sunday
D) Monday
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52 OGD(@GS"Q(% OJJQ(TDQ)&QQ a0 630, (T'IS‘EHGTTQ@
) BRIDAOENIRO H @b @OOMSS B0

nzam;ﬂée@gm& mfleflenzcilod swro &;m&njgsld;%&? " :

o Thane C) 10.4

6D B VKB MOMIEH @nagnno 12%
MO0AINEH® aagoaf 6.0l ooy} @0e3 o
QOdafl® ateldflesdld 50,000/- ®)al m@%;mfﬁ]?&ogwgoﬁm‘b Mo@HmDOW

fledtaflap. 1 QUdUET M@0 Bloemlos @@, o1l o8> G ?
A) 56,200 myal B) 56,180 ayai C) 55,000 @ D) 57,180 @yl

D) 2.6

gnﬂn% 500 @0 OBISIET 1) O.2] LOETH, Bvatio 10% p10@@HH@d aflamoalesy allg).
emo @@ 20% May@ilad emmiaimyo, oM 10% m@mﬂw% glcumo ol ey g
ag)@I@d &l asoaflal eeosiem aflel ag)@ ?
A) 484 m)al B) 396 qjau C) 384 ajal D) 480 ®jal
2021 @ caud) y
- EBUIW MOCWIRMEAMBNS.2UeS dler.q) oNmerflmes @paiody emdle afl@o
A) Dandad B) ®ILDaODD C) (BTO(TD&(O@ D) aflotnon
®36 alOWIM (IPIAINEEER e:00108]eM Mosnmu of (RA@OVE/ B ag® ?
Q) 800U 0w —19 emaflon rdar o) s wiHs @EGUA® QO @R6.
(||) EHOMOD) EHMSIENIV@ (aYBEAMBETS Halc@ouslenym) QIO @D
(iii) cmfloo eBIIQLS @D @ alle:miafle-gisiEm.

A) (i) oo B) (i) 9o (ii) @o @o(®o

C) (i) &o (iii) o mo(@®o D) ayeelld alosmmal aggjoo (i, ii and iii)
206> EU@ ®IOY alOWMAUDIM a@®eoe] mimbeqsldleam; ?

A) mpad B) enfleypdsmy C) esenfl@ eseoilay D) (@leeg

‘@O0 : BIPSHSDVAUMOS B0’ ag) Rl @ ?
B) @noafled @ealln

A) v ®od c
C) @iy aveflo D) @omas dlelssemond
y ¢ ( @)@ ?
@ROEM ‘U8 DBV al@ladoe e qE’ @0
A) Quouiesom3M B) namomm uflaiemons]
C) asemuilg 6. all. 204 D) eeaisyemompaled

090 BOWAIOR aB@OR a}@OR (VEa0OBEMD EDEM. A 0% BOWAIeP @6 ?

B) @xoga006d (ques
A) smilad e
C; :&o%m&@((wocﬁmm) D) @oanoucd (o 851&0%)! )

00, aggoaon) owo @A 710 0T STALYM,. gld agroaiad @06y

id
T
e ceideoooion S 2 35 A ae:og;ﬂ d:?g:) $&oamlog mogec® ?
A) 200° B) 195 D) 210°
oanenyoid 1, 2008 8 oMoyl aposmelah, 22841 4, 2008 a@my dlaimo
@ dle0)0 ? B) emo@0oyal C) engwmoga,

A) nail@o¥al D) aflegodial
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20. It Pis the South of Qand RS ihe West of Q, in what direction is P with respectto R ?
A) South-West B) North-East
C) South-East D) North-West
21. Which of the following stattMents are trye ahout social reform movement in
Kerala ? ,
(i) It was initiated and led by the middie class under the influence of western
ideas.
(i) They had a critical attitude towards traditional institutions, beliefs and social
relations. :
(iii) They seldom criticised caste hierarchy.
A) Only (i) and (ii) B) Only (i) and (iii)
C) Only (ii) and (iii) D) All of the above (i, i and iii)
22. Who established Abhinava Bharata Yuvak Sangham ?
A) E.M.S. Namboothiripad B) P. Krishnan Pillai
C) K. Damodaran D) A. V. Kunhambu

23. A list of political events occurred in the 1930s in Kerala wherein wom
participated is given below. Choose the correct match.
() Gandhiji's Constructive Programme — T.C. Kochukutty Amma
(ii) Girl Students Strike atChalappuram Government School — Jayalakshmi
(i) Temple Entry Programme — P. M. Kamalavathy
A) All of the above B) Only (i) is correct
C) Only (i) and (iii) are correct D) Only (ii) and (iii) are correct

en largely

24. Among the following statements which are true in relation to the event of the Partition
of Bengal ?
(i) Lord Curzon issued the order of dividing the province of Bengal.
(i) It was meant to stem the rising tide of nationalism.

(iii) Indian nationalists did not see the partition as an attempt to divide Indians on
religious ground,

A) All are true B) Only (i) and (ii) are true

C) Only (i) and (iii) are trye D) Only (i) and (iii) are true
25. {\m109n7%t2e following statements which are true about the imposition of Emergency
in

(|) It was imposeg under Article 352 of the Constitution.
(ii) The Proclamation of Emergency suspended the federal provisions of the
Constitution ang Fundamenta| Rights and Civil Liberties.

(iii) A series of decreeg
y ituti ndments reduced the power of
judiciary to check laws ang constitutional ame p

. ioni tive.
A) Only (i) and (ii) functioning of the executi

Anc B) Only (i) and (ii)
e 7 Qnly (1) and g D; All of the above (i, i, ii

-6-
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@ONEBO BREEMNESIED
20. ‘P’ agom® ‘Q’ afle emen somwamio R’ agmey ol oJé]mm»OO&

‘P, 'R o ooy dlooadd @aowideano ?

A) o®e6 — aldlermoc B) cussd~ 21989 o
C) omde) — 1906 D) cused— 281600

A JCUOIMEED
21. ®96¥ aloWMAIIE a@®IET) EBORA ORI MO ad)Hs udﬂg&omm ;

oosNIMUL] (RAIWO® (AIPICUM ? N DB DYO
(1) asovmpmymes mpuliimesia ow Améc@moaﬁ Nl m@woé‘ﬁ"&‘e’@3°
.2IQ®.

A B ag)MIQIGWIS
(i) @B aIRMIRIN® MuNdaIMEmBH, AKPMETEM, qoomgasiie Um0 °6)
QfladumoTsmde: MEMORONI0 HENBOWIIM.
(iil) @ead Roaflalyaimoe® @eadaow aflad) .
A) (i) oo (i) ©0 mo®o B) (i) go (iil) £ o
|

C) (ii) &o (iii) 80 mo®o D) m@ﬁoermm age° (i, 1 and i
22. @EIMAI BOA® W)NUEs Mo%elo (undalloj® @rad ?

A) ©. ago. ag)m. mmyaidajos B) ol @nﬁ'smffb oflgg

C) e®. 30e00c0M D) ag). all. BrYETOTOML

23. 1930 &6l (Pl HS)®L0] a 1Sy ceoaaios ededI® MoBOLETBEIES a1l BIO?
£B:05HNMMY. @U@ LAWOW Halo®@Mo BHEEETHSLBMNL>:
(i) wonWiglyes EeMMEIal elalooo — €. MYl Oe-0.oeIS! @D
(ii) 21021000 UMORNE Mol aflapdaddegns WA = Bweley]
(iii) eEU@ICUWM aldlatos] — afl. ag)o. Haeoaiw
A) aueslad alosmmal agigjoo B) (i) momo co@l@oeny
C) (i) oo (iii) ©o @o®o wdlwoeny D) (ii) o (iii) ©o @o@o cedl@osm

24. eniomo® AfleRMARMINS MIMLOQ]S, IO alOWIM (oM NAROR® oR® ?
(i) oo (iafluey aflezfleeomas TN @:dmer (I8 a0eqsallap.
(i) oo cedlwowes aidall.ey A calellewgo ®swod §EFUl.opas® @I
(i) a®aIERo® @EPSIMOOMATHC DAV jLOHOD aflezllenomes (MW @R@IOMm DM\

cBUI@AIEIBRD HenElR).
A) aggjoo vodl@oem B) (i) &o (ii) 8o @o@o
C) (i) &o (iii) po @mo(@o D) (ii) &o (iii) 9o mo@o

25. 1975 @ @osl@awilEolmo mgoagﬂsgoﬂ_gmﬂemaogcﬂ_g’ @6 oM@ il
(OO a@@oe ?
(i) eremeaism@ies 352-00 U] (aleB00m06M E0@ 2 AT,
(i) @r@TEoIMOWIES (alalPalMo BREMERISMDINS 2eflB:00:0006BEY0, HaNWOT
QUIMOBGI0, aIVOULNETBEI0 @0 #0elle00w) ofldwmwia g
(i) DEMOALEEESV}0, MVOEBHISW0 BOEMOEISMO ERRNMBQESW)o o IMIDE:M af)E)
aygafleod laJQUd@BHMO al@leroUWlenHIMBR &Iy 3TQeS @Usle000 S04,
A) (i) 9o (i) 9o @o(®0 B) (i) &o (iii) o aoimo
C) (ii) go (iii) go @o(®o D) ayedi aosmmaiewgoo (i, i, il




26.

27.

28.

29,

30.

31.

N, 1 \ )
in the series, a4 - )0
Find the missing term in

\2 368 . _ g xle3n)2 4 t 9
3,15, 2, 255, 1023. ”
A) 45 B) 51 C) 67 D) 63
Gun : Bullet ; : Chimney :
A) Water B) House C) Smoke D) Air
Find the odq one.
1116, 288, 576, 964
A) 964 B) 288 C) 1116 D) 576

be expresseq in that code ?
A) JLBHFKNTS

B) JHYKFYNES
C) JIZHFYNTS

D) JIHZFYNUS

If # stands for x, @ stands for + A stands for + ang Vv stands for —, then find the
value of

6#13 745 @ 3v7#12

Ayl B) 9 C) 150 D) 14

B) Only (i) and (iii)
D) All the above (i, i, iii)

C B) 1and 3 only
)2and30n|y D) 1,2and 3
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26. 668,05} OTO 1O agyeniaiien £06MOBIW 01B0 Br6EBETYE
3 15, ?, 255, 1023.
: D) 63
A) 45 B) 51 C) 67 )
27. eI L enpesy : aflodlofl
O,
A) aIggo B) afi¢ C) aye D) 0w}
8. BRWIOM OB
1116, 288, 576, 964 e
A) 964 B) 288 C) 1116 D)
0g)$4®0- ag)#@d @oe®

v

@000 TEACHER agm@ YJFHMJW ag)™

UCATION g ag)sslom ag) g0 ?

A) JLBHFKNTS B) JHYKFYNES

C) JIZHFYNTS D) JIHZFYNUS
¢4 @DOEMESBSD,

& ‘X @oeem@d, ‘@’ ag)Mm® '+’ apeem@d, ‘A’ g M@
afle) @6n3jatiSlenld.

29, Q@) (JE® B> EOW
@O0 (ale0®0 ED

30. ‘# agm
' ag)m@ = @EEMEI@, IO o5 fldlenmailod
p#13r45@ 3v7#12
A) 147 B) 9 c) 150 D) 14
31. @oe® aloMAUTIT aB® (aJOPOUM@OENTY @ Ealdld @'o@ﬁcmmﬂ%
ElowIges® ? '
(i) @eondeueiicd ag@@IAO afleoall 9OMBAM® EDOD gmocwmoagmwﬂo@ dluzil®
BDOMDOE.
06N3 @ONBHY @RAUMOOHD vz 2 flafleanm.

(i) @y0em® ERGaIB:E 00D o MIOMEDM a

ag)MO@ SO @ealele Idajo @IVDERM VB DES @OADBNLLOOTD avgall

afleeymy.
(i) @eaIesle odajo £SO @ 9886aj0Rd @IOMEDIM QUSOO HO-2Y RElo BO®ED
2)AINES AOADEIBHHO BOOMED M

meslad aflomgo woﬁ&dma%s&m@g. £>006mMo0,
DB DBB®I0, EOT pdmalo) 9aldleled SyS;od a)s §EMILOM @0

@M.
A) (i) go (i) go @o@o B) (i) &o (iii) o @o@o
C) (ii) go (iii) go @ow@o D) ayeelad atosmmaiewgyoo (i, i, iii)
32. 069 alO@MAUI@ a@®6T oold@od MAOS Galdadd MAElexwd ? ~
1) oowelap¥ 2) ensoei@od 3) wowEflgpy .

0619 alOWYM GeOUY 9aleIUdl. 2] OO0 HOEMBENTYS:.

A) 1 90 2 9o @o(®o

C) 2 9o 3 9o @o(@o
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App— ith List~ Il and se|ect the correct answer from th
33. Match the List = IW _
below. ' (lhls\:e_l-'s")
List - i ;
(Divisions of H|ma|3V') 1) Sutlej to Kali :
a) Punjab Himalaya 2) Indus to Sutlej
b) Kumaon Himalaya 3) Tista to Brahmaputhra
| Himalaya Kali to Tista
3 Ascart HItHER ¥
(@ (b) (0 @
) 1
)
)
D)

34. W
1

@ >
W w

2

1.

4 SN

2 8. _

hat are the factors affect the strength and direction of wind ?
) Pressure gradients.

2) Coriolis effect.

3) Friction.

| answer using the codes given below :
S:) e20tat:§ g%r;?yd B) 1and3only C) 1and 2 only D) 1,2and 3

2

35. Consider the following statements : ' . .
1) Intense seismic agctivity occurs along convergent Ilthpspherlc plate boundarges.
2) Convergent lithospheric plate boundaries, oceanic plates are undergoing

subduction. _ 0
Which of the statements given above is/are correct ? 53 -
A) 1 only B) 2 only e
C) Both 1 and 2 D) Neither 1 nor 2 },m . .
R o
36. Which term of the sequence 3,8,13,18,..is78 ? T
A) 17 B) 15 C) 16 D) 14  4¢
37. Simplify (0-2)4><(3>-27 .
A) 16  (03) B) 16 C) 0.16 D) 160

38. Two numbers are in the ratio 2 -
ratio 3 : 5. Find the first Number,

A) 20 B) 10 C) 30 D) 50

39. The average of 10 numbe
new average ?

3. If 5 is to be subtracted from each they are in the

rSis 12. If we subtract 3 from each number, what is the

A) 36 B) 15 C) 4 D) 9
40. 1f 3°¥=2187 and 3*+y = g43 find the value of x.
A) 4 B) -1 C) 6 D) 7
41. Who instituted the lang févenue system named Dahsala ?
A) litutmish Sher Shah C) Akbar D) Aurangazeb




M
33. 1o Il o QORI Caleid 3.0J0)00IS16.0ID®), 61 ORI o
c&amm‘l&). )q,l‘mfﬁﬂ(ﬂ&@&(m @mfbo
( 1'”1““"1 el — I
a0lmopI@mIeel (nd)
avlaflasim)enmd) i

a) alemioen] adlmopiwo 1
b) @yemoed adimorio 2
C) &Mool adimopi@o <
d) @@ adlmopi@o 4

) 60 5) B0
) Bawms si) m)ﬂ?‘]’gd
) 9 s) Erianall®
) &g 5 A
(@ (b) (c) (d)
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42.
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45.

46.

47.

48.

49.

Among the following combinations which one correctly represents the effects of
? | . .

V/\\/)Orgo\l/l\g%rsle.of Habsburd EMpire, Ryssian Revolution, United Nations

B) Russian Revolution, United Nations, Revolt of Germany .

C) Collapse of Habsburg Empire, Russian Revolution, League of Nations

D) Revolt of Germany, Collapse of Habsburg, United Nations

Read the following statements and then choose the correct answer. :
Statement 1 : French Revolution began as an assertion of National Sovereignty.
Statement 2 : The National Assembly in 1790 demanded that France could never
make war except in self-defence. .

A) Both are tru% B) Only Statement 1 is true

C) Only Statement 2 is frué D) Both are false

The idea of abandonment of‘parliamentary democracy in favour of a ‘dictatorship
of the proletariat’ was associated with '

A) American Revolution B) French Revolution

C) Russian Revolution D) None of the above

The three pillars of Jawaharlal Nehru's development strategy in post-independent

India were

A) Planning for rapid industrial and agricultural growth, a private sector to develop
strategic industries, a mixed economy

B) Planning for rapid industrial and agricultural growth, a public sector to develop
strategic industries, amixed economy

C) Planning for rapid industrial and agricultural growth, a private sector to develop
strategic industries, a capitalist economy

D) Planning for rapid industrial and agricultural growth, a private sector to develop
strategic industries, a socialist economy.

Which is the portable document format version of the election photo identity card ?

A) E-EPIC B) E-EPID C) e-EPIC D) EEPIC
The bank authorized to issue and encash Electoral Bonds in India

A) Reserve Bank of India B) State Bank of India

C) Union Bank of India D) All the above

The idea of separation of powers implies

() That the same person should not form part of more than one organ of the
government.

(ii) That one organ of the government should not control or interfere with the exercise
_ ofits function by another organ.

(iii) That one organ of the government should not exercise the functions of other.

A) (i) and (ii) only B) (i) and (iii) only

C) (ii) and (iii) only D) All the above

of the Constitution indicate that the people of India are the source of

authority behind the Constitution.

A) Article 1

B) The d Soverei
C) The Preamble ) The word Sovereign

D) Part Il
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42.

43.

44.

45.

46.

47.

48.

49.

096/21 _

©06% aJOWIAT HIFOBIBEED RN BN BelH, g0 00W) auwﬂﬂ"@ ADLIETB®D (flyoqy

(@ ofluflesdleama) ?
A) aoenimienide quo@ossmfled @:d.a), 0aud algjalo, & ,JEIOYTE
B) oanyid aflgjaio, Hag)ds 00ymve, 2domailfee (&(‘SOOJ; L i
C) aoenimienides mo@os el @edal, Oatjd aflgjalo goa GNAHABMS
D) RbmIIoe @adns, aomiTenbuion Oads), mgayiois

@069 aJOWIM (AIPIUMEGD ow.2] Bl SEMmeo eI
(adapocum 1 aaudl® aleaoulle0emam BAIBONANEp0@IEM P pllgjalo DS
(JaROAUM 2 (VKo (aIaflarowo @RPE® (e0MMIT adlaOesS ) e gaalleoomoallogys
1790 ee! e3udlw @oMVosmIg] @OB:00060 S} "
A) 068} (1IN0 V@R B) &mone®® RO B0 wd
C) @en=006®® (aJGPIQIM DO(@@O6) (o D) w6y (o B8i0 ORI
800Ul @y @omesein0w] alodeiea@dl &mouflal®ie an-'axﬁ]&@&&a ag)(™ BRR@o
ag) O eIMWERSIElHHM ?
A) @peadlencd aflgjalo B) (aneref aflgd®®
(a0 o
C) oantyid aflgyalo Dg PO Qa,osgmﬂd'ceﬁ&m“ﬂ@ amyag
PDEDPMTO WL 8AlaODLIT emacoalle aflexmm @@ 2T O
]
A) @oaflenin QljomI®, 000l UBA2JWOS EDAVY@EMO ®(®IODID
mbmanocwmo%oemcnﬂ G0} V00 CGREUE), 6O} sl ¢d QMo
B) @oafleaus) QUyImO®, @0dadle Qg 2 HS EDIVY@EMS; ®(OMaIODOW
QIQIMODETBREHID §0) HoOBIERRL], B quad gy qumiGaiaITuo
C) @oafleniwn Qljlmow B00afle QURD.2jWIOS @RIV ®EMO; mLﬂmoJ“(MO@
m{;mavom)smcfboeoocoﬂ B} VB0, Cael, 60} e8] e romuEQljImo.
D) @eaiienion aljaavow, £:00a]H> CDEILIOS @DTVI(@EMO, ®OMalODOW
m{;mavom)mcfbdeoomﬂ 630} MOKB-00 GDEUE), B30} GTVOA% yefay aomuEal jUmo

loeemmsia] Ga00650 @)oo sodulod saodgeNNd BAWILBODE @anodaog aiaflaf

a@®moem ?
A) E-EPIC B) E-EPID C) e-EPIC D) EEPIC

6Dl (HOTD @6nJ06N3} D
EODIWOS G0 ag@oem ?

A) Almudqf enios: eoad OB B) e 108 @oar enadan,

C) el enioes eoal e D) ayesl® alosmmalowg)oo
@Wle006mBaIes aflegrmo agm alBo muyaflofleama

(i) ey e waeea@en aarilaluflo SO0 TBRNS EINMIAIMY.

(i) waedoad@er 680y SO0 Jo/ @000 DR} BINETBROS (IUROMETREIT ssoa S

@ (OTENLEDO 6.2V,
(i) wouedend@en e @woe 205% @oNETIOR (IAUBGDM alyn; B o 62,1010
B) (i) o (iii) go g

Doy y) 6.2 QRMamio ag)Des0as” O.21@RAN@IML0 @03 SI0M8S

A) () 9o (i) 20

C) (i) go (i) o D) ayegl® alosmma ageioo

DD BOEMARISMWYOS @WB00 GOV v

x?ﬂ@gﬁg 1 4 DWM gm0
@) n.lmmoqjl,&am A

C) moayeo D) @wo lll QG0N QIOBE)

-13-




096/21 - m

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

' ing is ot a Class; in India ?
Which of the following is N°! & cal language in .
A) Hindi B) Odiya C) Malayalam D) Tamil

Which of the following statément is/are correct about POSCO ?
(i) A special law to protect children from offences of sexual harassment.
(i) POSCO is gender neutral.

(iii) In-camera trial of cases.

A) Only (i) and (ii B)Only (i) and (il © + <+
C) Only (ii) and (iii) D) All the above (i, ii and iii)
Who wrote the memoirs ‘ Solomante Thenichakal’ ?

A) Benyamin B) Justice K.T. Thomas

C) Zacharia D) Justice Cyriac Joseph

In which State of India do you find Daby printing, which is a mud resistant hand block
printing ?

A) Tamil Nadu B) Karnataka C) Rajasthan D) Gujarat

Which is the second Kerala Art form being included in the UNESCO list of intangible
heritage of humanity ?

A) Mudiyettu B) Kathakali C) Koodiyattam D) Ramanattam

Which of the following does not form the Right of the Election Commission of India ?
A) Right to allow symbols to political parties

B) Right to set limits on poll expenses

C) Right to decide the schedule of elections

D) Right to decide how many parties can contest in an election

The access time refers to the

A) Time required to locate and retrieve stored data
B) Time required to locate the lost data

C) Time required to delete specific data on a certain memory location
D) None of these

An example of non-preemptive scheduling is
A) First Come First Served B) Round Robin

C) Lastin First Out D) Shortest Job First

The network topology in which devices are not linked to each other and where hub
acts as a central controller is

A) Mesh B) Star C) Ring D) Tree

Roman number system is a

A) Positional number system
C) Both (A) and (B)

A flow chart is a kind of
A) One dimensional graphics
C) Three dimensional graphics

B) Non positional number system
D) None of these

B) Two dimensional graphics
D) None of these
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has jurisdiction over which of the following State or States

61. The Guahati High Court
(i) Assam p
(i) Nagalan
(iii) Arunachal pradesh
N dornd B) (i) and (iii) only
A) (i) onl
C; 8 (ii)yand (iii) only D) All the above t
i llowing and identify the incorrect statement/statements.
o C(iC;n‘Sr'rc)j: rUﬂp:gef?Chamgber of Indian Parliament is a permanent hopse. : |
(i) All the members of Rajya Sabha are elected on the basis of proportiona

representation.

(iii) Its Chairman is elected from among its members.
A) (i) and (ii) only B) (i) and (iii) only
C) (ii) and (iii) only D) None of these

63. Fundamental Rights are
(i) Justiciable.
(ii) Absolute.
(i) Negative as well as positive.
(iv) Amendable.

A) All are correct B) Only (ii) is incorrect
C) Only (ii) and (iv) are incorrect D) Only (i) is correct
64. The first Chairperson of the Lokpal
A) Justice Pinaki Chandra Ghose B) Justice Pradip Kumar Mohanty
C) Dr. Indrajeet Prasad Gautam D) Smt. Justice Abhilasha Kumari
65. Part IX A to the Constitution of India was inserted through
A) 73" Constitutional Amendment B) 74" Constitutional Amendment
C) 72 Constitutional Amendment D) None of these
66. Indian Space Research Organization, formed in the year
A) 1962 B) 1960 C) 1969 D) 1966
67. World Water Day is on
A) March 24 B) August 8 C) June 7 D) March 22
68. Section 66 A of IT Act 2008 is related with
é) Sending offensive messages B) Hacking Computer System
) Failure to maintain records D) Using password of another person
69. Serohl,?gly test is related with
alaria tegt 5 :
C) Headache B) COVID-19 Antibody test

D) None of the above

70. Louis Past X
A) Fiabiese ur created the first vaccines for

C) Anth B) Cholera
S D) All of the above
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71. 1.1 must remember t0 Pack a holigay oo,
2. My mum says that we must pack soon.
3. We are going on @ holiday to the sea coast.

4. | am really looking forward to it.

Rearrange the jumbled sentences in g Jogical manner.
A) 34,21 B) 3,2,1,4
C) 2,1,34 D) 3,1,2,4

72. a) The ball hit me straight fithe __ fispoails oo
b) | tried to thread the cotton throughthe ___ of the needle.

Choose the right word to fit both sentences.

A) head B) face
C) eye D) nail

73. Great oaks from little acorns grow.
What is the meaning of this proverb ?
A) Making a little effort now saves time later.
B) All great things start small.
C) It is easy to forget something if you can’t see it.
D) Do something over and over again until you do it well.

74. Heisa of the old block.
Complete the figurative expression.
A) leaf B) bark
C) root D) chip
75. | waited nine O’clock and then went home.
Choose the right preposition.
A) during B) after
C) from D) until

76. You have to take an exam the course. (pass)

Choose the right option.
A) passing 8} loipaas
C) have pass D) for pass

B
-18-




My daughter is qUite Shy BB L. sheis an ag ve p'a
- gressl!

yer in the badminton

77.
court.
chooseé the correct adverb.
A) furthermore
) : B) consequently
) necessarily D) however
78. |dentify the correct spelling.
A) colloquial B) coloquial
C) colloquail D) coloquail
79. war never solves anything.
Choose the right determiner.
A) Any B) The C) A D) An
g0. The train will arrive at the station at 6.15 PM.
Choose the right adverb.
A) already B) usually C) exactly D) always
81. Rosa Parks was thrown off the Montgomery bus for refusing to give up her seat to
a white passenger.
Which definition fits the phrase thrown offin the above sentence most appropriately ?

A) To make some
B) To push something out o
C) To catch hold of someoné
D) To make someone fall do

82. They can’t decide __———
Use the right connective.
A) both ... and
C) whether ... or

83. Write the synonym of ‘akin’.
A) Divergent
- C) Similar
B

thing move throug
f your hand

to travel north

h the air

whn suddenly

south.

B) either ... or
D) neither ... nor

B) Original
D) Duplicate
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84. | don't know ifhe is cOMING. Here jfis used to
A) Describe a permanent situatiop,
B) Refer to the past
C) Introduce a comparison

D) To express a doubt

85. The house is so dirty. | really must clean it. What is the use of the Modal auxiliary ?

A) To express Obligation B) To give Advice
C) To give Permission D) To denote Ability
86. He a large bill at the shopping centre yesterday.

Choose the correct phrasal verb.

A) run of B) ran out of C) ran up D) ranon

87. In order to travel, you need a passport. , you might need a visa,
immunisation jabs, and fulfil quarantine conditions.

Complete the sentence using the most appropriate connective.

A) in addition B) in short
C) in case D) in spite of
88. lhaveseenher__times this year, but not very often.
Complete the sentence using the right.
A) a little B) much
C) afew D) many
89. When | got to the hospital, she _(sit) in the waiting room.
Choose the correct tense form.,
A) sat B) is sitting
C) was sitting D) will sit
90. | will wait untj | (see) him.
Choose the correct tense form.
A) see B) will see
C) has seen D) saw
B -20-
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